I'naBa IV. MeTOI[]:I HCCJICeA0OBAaHNA MATEMATHICCKHUX Moz[e.neﬁ
4. AcMuMNITOTHYECKHE METOAdbI

Metoa masnoro napamerpa. CUHTYJ/ISIPHbIE BO3MYIIIEHUS

23 22

v \ /TaK KaK B (17) u=0
(25) = Fo(t) = F‘ﬂ:O:f(yo(t)’ t) ~0 (26)

5(0) 28], 0% F(95(0) + T, (2),0)~ £ (75(0),0) = £ (75(0) + Ty (2),0)  (30)
(@) = Y00 =Y,(0)+py, () +...+11,0)+ pl1,(0)+... =

.
=y’ =yo +uy) +... (31)

(BD) = (0)=y,-»,(0)  (32)

o - 50) £ 1(95(0)+ 1,(7).0)7 >0, (39)

17,(0) = y; — ,(0) (34)

23

(28) =
(32 =
dy, Zgﬂ %y

\
@) = =R T2

dt ‘u=0: fy(yo(t)’t)yl(t) (35)

@9 = S50 = 20 =1, 0,0+ 1,002 o 1,00 .0 +
T ou ou ou

ft(yo(0)+no(r),0)§—2\ﬂo —ﬁ(yo(O),O)s—L\ﬂo -

=7

=7
- fy(yo(0>+no(r>,0)(8y°a(t‘”) @yl(mwayl(”) ®..+

ot 0

=7

L)+ 2u1T,(2))] o~ 1, (74 0) ox%@+ () 4 2BL0) \yo +
7 o V




+ ft(yo(o>+no(r),o>§—2\ﬂ:o —ft(yo(oxo%\,,zo = £,00(0)+ Ty () O+

[+, (55(0) + 17,(2),0) — £, (3 (0), 0) (3% ()7 + 11(0)) + (£, (3,(0) + 17, (), 0) - £, (3, (0), 0))

1

= 1, (¥ (0) + 11, (7),0) 11, (7) + O (36)

(3) = Y(0,4) = Yo(0) + 2y, (0) +...+ IT,(0) + L, (0) + ... =
18\

=y =y uy ... =

17,(0) =y, -3, (0) (37



Llenouka pelweHus:

Anrebpanueckoe ypaBHeHue:

Fo(D=f(y,0.0)=0  (26)

Yo(t)
Uy _ 4 (yy(0)+ 17,(2),0), 7 > 0, (33)
T
3agava Koww: 17,(0) = 2 - 3,(0) (34)
Ho (T)

Yot u®0%0 69

1

Anrebpaunueckoe ypaBHeHue:

y; (1)
ddHl = f,(¥,(0) + 11, (z),0)I1, () + O, 7 >0, (36)
T
3apaua Kowwu: 17,(0) = y) - »,(0)

0

11,(7)



A | )
dy 2
pu—=y-y,0<t<], (40)
4 dT

_ 1
— YO) =5+ u= Yo +uy, (41

H n// -
{ v (26) = f(y,(t),t)=0 =
%

t Yo)-ys () =0 = y (t)=1

(dr1,
5 dr

= {1+ 1.0 _ |
Ho(o):

ar, =1+11,)- 1+ 11,)*,7 >0,(42)

0 1,1

Yo =2o(0)_; 170(0)_2 1=-3
1
=f,060.0%0 65 = MR)=-—

V() =0 = y(t, 1) = Vo (O)+ iy (O) + (7 + I, (2) + .. =

1

=1+11,(r) + O(u) =1~ +0(1)  (44)
= 1+e° =

(36)
(37) = 3
(41)

(44)

drz,

T

— (1-20-—2 )11, 7 >0,
1+e”

f,=1-2y
,(0)=y; -»,(0)=1-0=1 =



11,(5) =—2 3t 0) = yut) + il + 11, (7) +
(1+e")
) 1 4e’ )
+ull (7)+0(u") =1- + U - +0(u”) (48)

1+e° (1+e")



